(%i1)
(%01)

(%i2)
plot2d :

(%t2)
(%13)

plot2d :

(%t3)
(hid)
plot2d :

D(L, %omega) := sin(%omega * L/2) / (Lxsin(%omega / 2));

D(L,w):= ?211(1(2‘”)

o.)L)

wxplot2d ([D(3, %omega)l, [homega,-3*%pi,+3*/pil)$

expressionevaluatestonon—numericvaluesomewhereinplottingrange.
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wxplot2d ([D(4, %omega)]l, [omega,-3*%pi,+3*)pil)$

expressionevaluatestonon—numericvaluesomewhereinplottingrange.
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Y%omega

wxplot2d ([D(5, %omega)l, [omega,-3*%pi,+3*)pil)$

expressionevaluatestonon—numericvaluesomewhereinplottingrange.



sin(5*%omega/2)/(5*sin(%omega/d

(%t4) Y%eomega

(%i5) wxplot2d([D(7, %omega)l, [%omega,-3*pi,+3*/pil)$

plot2d : expressionevaluatestonon—numericvaluesomewhereinplottingrange.
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(%t5)

(%16) wxplot2d([D(11, %omega)l, [Jomega,-3*%pi,+3*%pil)$

plot2d : expressionevaluatestonon —numericvaluesomewhereinplottingrange.



sin{11*¥%omega/2)/(11*sin(%omega

(%tG) Y%eomega

(%18) wxplot2d([D(21, Y%omega)l, [Jomega,-3*%pi,+3*%pil)$

plot2d : expressionevaluatestonon—numericvaluesomewhereinplottingrange.

)

a l

£

S 08}

é

k= 06 r

w

— 0.4 L

o™

c:;,: 0.2

> 0

£

S w02t

2

£ 04 -

o 8 6 4 2 0 2 4 6 8

[

= o
(%t8) n Yeomega

(%19) wxplot2d([D(31, %omega)l, [Jomega,-3*%pi,+3*%pil)$

plot2d : expressionevaluatestonon —numericvaluesomewhereinplottingrange.
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